[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.0
0.005

Ratio

[

19

iy

TT T T T T T T [TTTT[TTT

CE: J X E TEEE X SEEE REEEE = B B L
+ :[ l 1 1

0.5
1072 107 1

10 0?
TP vertr (cr%)

—=— DQMstep3_TT_CKF

Effici —e— DQMstep3_TT_default
ICIeNd __,__ pQMstep3_TT_defaultNEWTepo10

~ 0.021

0.
0.
0.
0.

Ratio

EHHCIRRCY S 8T

018

016F
014F
012F
0.01F
008f
006F
004F

002

le-

[y

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05

>
50.045

£

=0.04
9.035
>

20.03
2]
8.025
(]
0.02
0.015
0.0
0.005
Qe

Ratio

................................

................................

iy

0 5 10
Sim. PV z (cm)




	Contents
	Page 1


